D1vISION WITH A REMAINDER IT (H - SET 1)

DIVISION WITH A REMAINDER 1;3:6 -
) —62617 = (=7) = 586) —11265 + 2 =
72 30861 +— 5 = w7 —27854 + (—6) =
73 —6206 -~ 1 = w9 22040 = 6 =
) 23155 + (=7) = 589) 65694 + 9 =
575 —48830 + 9 = 00) —47874 + (=7) =
76 27602 + (—3) = o) —13062 + 4 =
57 10930 = 5 = 592 8701 +3 =
79 —19421 = 5 = 93 23317 + 8 =
79 22600 = (—=9) = 594 2260 + 5 =
550) —2290 + 1 = 595 HARAT + (=T7) =

) —3496 + 1 =
%2 —31634 + (—10) =
583) =776 + 7 =
) —65426 + (—10) =

W) —2852 + 8 =

Mathematics: Division - Level 8 - Horizontal - Set 1
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35175+ 4 =
41381+ 5 =
—13123 =2 =
19127 + (—6)

9058 + 2 =
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